
The City School, PAF Chapter          Junior III 

Math CRP-4 

Q1:  Fill in the blanks: 

a) 500 g equals to __________ kg   e) 10kg  300g = _____________g 

b) 100g + 750g = _______________g   f) 1.5 kg = ______________ 

c) 3200g = _________kg __________g   h) 5000g = _____________ 

d) 900g – 25g = ___________    i) 1110g = __________kg  ___________g 

e) 750g + 750g ____________ 1 
 

 
 kg  (compare) 

f) One exercise book weights about 200g. 5 books will weight about _______________kg. 
 

Q2: True and False: 

a) 1kg is more than 500g. 

b) Two half kg bags of coal are heavier than a 1kg bag of cotton wool. 

c) Fine 200g weights are the same weight as 1kg. 

d) 2
 

 
 kg is the same as 2750g. 

e) Three 
 

 
 kg packets of flour weigh exactly 1600g 

f) A rabbit could weigh 50kg. 

 


